
Study of e+ e- → γK+K-



Event selection 

• Good Charged Track:
|Vz| < 10.0 && |Vr|< 1.0 && |cosθ|<=0.93;

• PID:
Kaon: prob_K>prob_p && prob_K>prob_π; 

N(K+) = N(K-) = 1; 

• Good Photon :
Ebarrel > 25 MeV; Eendcup > 50 MeV;

θrc <10⁰; 0<= TDC <=14;

Nγ > = 1;

• 4C kinematic fit (γK+K-);

• χ2
1C(K+K-π+π+) < 200;
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Event selection 

• PK < PK(2Body) + 3σ[2μ,2π];

• Pγ (KK) > Pγ (f0(1710)) - 0.2;

• |M2
miss| < 0.05GeV2

• 120 ⁰ < θ(Kp_Km) < 240 ⁰[cos θ<-0.5] 2



Compare with signal MC

Signal MC Data



Signal MC compare with KpKmPi0

GamKpKm KpKmPi0



Event selection 

• -0.05 < M2
miss < 0.0GeV2

GamKpKm

KpKmPi0



Backup
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